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rr[TaHrrn sa 20 yue6nulfi rog
MAOy (COIII Nb16>> (y.n. [o6po.nro6ona, A.16)

(noHEAEJrbHprK)

IIpOAODT(r4TeJrbHo cTb

I cueHa
09.05 - 09.2s 3aBTpaK I (E) (AOO[)

3 (3) (AOOII),
5 (){t) (AOO[),
5 (3) (AOOil),
6 (f> (AOO[I),
7 <<il>> (AOO[),
8 (x{) (AOOI

10.00 - 10.20 I (f>, I (A),
2<<[>>,3 (E)

10.55 - 11.15 20 rvtuw 4 (3), 5 (A), 5
(E), 9(E)

1 1.50 - t2.10 I (E)) (AOO[)
3 (3) (AOOII),
5 (X)) (AOO[),
5 (3>> (AOO|I),
6 (f) (AOOil),
7 <<E> (AOOn),
8 ()K)

12.45 - 13.05 20 ruuu
2 clesa

13.40 - 14.00 2 <<E>>,3 (X),
4(X), 4 <<VI>>

6 (A),6 (E),
7<[>>,8 (A>,
8 (E>>



IpaQnx ruraHr{n ua2024-2025 yue6Hufi roq
4.nr o6y.rarculnxcs MAOV <CO[I NbL6>> (y.n. !o6po.nro6osa, A.16)

(BTOPHT{K)

J\b BpeMt npoAon)Kr,rTeJrbHocTb

rrepeMeHbr
KJIACCbI KOII4q

ECTBO

1 cuena
I 08.35 - 08.5s 20 rv:;zlc' 3aBTpaK I (E) (AOOil)

3 (3) (AOO|I),
5 (X) (AOO|I),
5 (3) (AOO|I),
6 (f) (AOOII),
7 <A> (AOOII),
8 (xt> (AOO[)

99

2 09.30 - 09.s0 20 uun o6e.q I (f), 1 (A),
2<<il>>,3 (E>

106

a
J 10.25 - 10.4s 20 rvurr o6e.q 4 (3), 5 (A), 5

(E), 9(E>
l14

4 tt.20 - 11.40 20 rv,urr o6eA I (E) (AOOI)
3 (3) (AOOil),
5 ()t> (AOOII),
5 (3) (AOO[),
6 (f) (AOOII),
7 <[> (AOOil),
8 (X))
(AOOn))

99

5 12.15 - t2.35 20 rvmrr o6el
2 crteua

6 13.10 - 13.30 20 rvun o6eA 2 <<E>>,3 (x{>,
4(X), 4 <<U>>

106

7 14.05 - 14.25 20 wurr o6eA 6 <<E>>,6 (E)),
7<[>>,8 (A>,
8 (E)

129
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IpaQnn rrrraHrur na 2024-2025 yve6nui
4rr o6y'rarculnxcq MAOY (colll N16> (y.n. [o6po.nrc6osa, q.l6)

(CPEAA, rrETBEPr, ngTHr{IIA)

IIpOAOnx{14TeJrbHocTb

I crraeua
08.40 - 09.00 20 rvruu 3aBTpaK 1 (E) (AOO[)

3 (3> (AOOil),
5 (xt) (AOOD,
5 (3)) (AOOII),
6 (f) (AOOI),
7 <<A> (AOOII),
8 (xt) (AOOil

09.40 - 10.00 I (f>, I (A>,
2rr[r>,3 (ED

10.40 - 11.00 20 rrurr 4 (3D, 5 (A>, 5
(E>,9(E)

11.40 - 12.00 I (E) (AOOII)
3 (3) (AOOII),
5 (Xt) (AOOII),
5 (3) (AOO[),
6 (f) (AOO|I),
7 <[> (AOO[),
8 (x{)

t2.40 - 13.00

13.40 - 14.00 20 rvrurt 2 <<E>>,3 (xt)),
4(X), 4 <i4>>

6 (A), 6 (E>,
7(f)),8 (A>>,

8 (E)


